ONEEICIR i v i i PR o  SE T B R etk DR R DB, o scmsm s s e B s

2311 Candidate’s Signature ... ...
BIOLOGY

FPaper 1 VTS cocmci i sia et s B s
Nav., 2016

2 hours

TP

THE KENYA NATIONAL EXAMINATIONS COUNCTL

Kenyva Certificate of Secondary Education
BIOLOGY

Paper 1
2 hours

Instructions to candidates

fe)
()
{e)
fed)
fer)
(f)

fer)

Write your name aid index number it the spaces provided above.
Stgn and write the date of the examination in the spaces provided above,

Anvwer all the questions in this question paper
Al answers must bhe written in the spaces provided,

This paper consists of 11 printed payes.
Candidaics should check the question paper fo ascertain that all the pages are printed as
indicated and that no questions are missing.

Candidates should answer the questions in English,

For Examiner's _L'se (]nl}'

Question Maximuem | Candidaie’s ]|
|

Score Seore

1..20 80

2070 The Keeva Nattona! Examinations Cawncil

Q16036 Turn over




b3

Answer all the questions in the spaces provided,

1. {a) Statc two ways in which the muscles of the mammalian heart are special. {2 marks)

(by  Name the type of muscles found in the following oreans. (2 marks}
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2, Why are plants able 1o accumulate most of their waste products for lang? 2 marks)

3. State the importance of tactic responses among members of Kingdom Protista. {2 marks})
TR
t{.:;h'kl:]
2 el

4. {z)  Namgc one defect of the cirealatory system in umans. (1 mark}

{by  State three functions of blood other than transport. {3 marks}
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5. State the economic importance of anaerobic respiration in plants. (1 mark}
6. Explain continental drift as evidenece of cvolution. {3 marks)
T Explain how the following prevem self pollination.
{1} Protandry {1 mark)
() Selt-stenlity {1 mark)
3. State three functioms of Golg: apparatus. {3 marks)
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e {a)  Name two structures of gasevus cxchange n agquatic plants. 2 marks)

(by  What is the cffect of contraction of the diaphragm muscles during breathing in
marmmals. {3 marks)

. (a) State fwo disadvantages of sexnal reproduction 1n animais. 2 marks)

(b)  Stae two funciions of a placenta. (2 marks)
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11.  Name two benefits that a parasile denves frinn s host, {2 marks)
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12, Onher than using a quadrat give two methods that can be used to estimate the population of
arass. {2 marks)

13. 4y Stawe two factors thar affeet enzyimatic activities, {2 marks)

ib) txpluin how one of the factors stated in {a) abeve affects enzymatic activities. (1 trizark

I4.  Give three factors that determine the amount of energy a human being requires in a day,
{3 marks}
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13 {(a) What 15 seed dormancy”?
()  Name a growth mhibitor in sceds.
l6.  State one usc of cach of the following exeretory products of plants,
{1} {'olchicine
{ii}  Papam
17.  State the name given to the siudy of!
(1} The eell
(1) Micro-organisms
18.  Idstinguish between haemolysis and plasmolysis,
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19.  Lxplain why it is not advisable to be in a poorly ventilated room with a buniing charcoal stove,

{3 marks)

20.  Stale three factors that contribute to the deceleration phase in the population curve of an
Organisin. {3 marks)
ZI.  The figure below illustrates o food web in o cortain cogsystem,
e —» [izard
st e NnpO0se
Gragshopper =77 "7 7T Chicken
o fc‘rm]tt.s Ifh
(rrass - -~
\ W cax er hlrd
i Hd“ R LV ulmrc
Sheep T
o= Hyeng ——— -
From the food weh:
{a)  Diraw the shomest food chain {1 mark) & :‘f
iy

(b} Tdentify the orzanism with the hghest:

(i) nummber ol predators {1 mark}

11} biomass {1 mark)
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8
22, State three characlenstues of the class (rustacea. {3 marks)
23.  (a)  Namc one salivary gland in hunians. (1 mark}
b} State two funetions of saliva, {2 marks)
24, [low does nutrition as a characteristic of hiving organisms dif¥er in plants and animals.
{2 marks)
25, Distinguish between ditfusion and osmosis. {2 marks}
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26.  Stalehe functions of the following parts of a microscope.

{a)

{b}

7. &)

{b)

Bl16636

Objective Lens

Maphragm

What is single circulatory svstem?

Name an organisim which has a single circulatory system.

Name the opening to the chamber of the heart of an insect,

Kenya Certificate of Secondary Education, 2016
2311

2 marks)

{1 mark)

{1 mark)

{1 mark)
e
Lo

Turn over

e S -



10

~8.  The diagram below shows a transverse section of a plant organ.

3 {a) Name the plant organ from which the seetion was obtained. {1 mark)
by (0 Namg: the ¢lass to which the organism from which section was obtained belongs.
{1 mark})
2 {11} {iive a reason for vour answer in b (1} above. {1 mark}
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{a) State a characteristic that is common 1o al cervical vertebrac. {1 mark)

{b)  Name two tissues in plants that provide mechanical support. (2 marks)

3. State two advantages of hybrid VIZOUT. 2 marks)
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